Algebra II Classwork/Homework								Name: _________________
Discriminant										Date: __________________
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We're given a quadratic equation and asked how many solutions it has:
622 + 10z — 1 =0

From the equation, we see:

ca=6
«b=10
ce=-1

Plugging these values into the discriminant, we get:

b® — 4ac
=10 — 4(6)(—1)
=100 + 24
=124

This is a positive number, so the quadratic has two solutions.
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1) The discriminant is part of the quadratic 2) Readthroughthe example provided Do
formula. Spedifically, itis 5% — 4ac. you have any questions?
What does the discriminant tell you about
the answers you should get?

Find thevalue of the discriminant of each quadratic equation.
3) = +x-10=0 4 10V +6v+1=0

5) —6x7=-x 6 -9x'=-3-x

Find thediscriminant of each quadratic equation then state the numberand type of solutions.

7) F+10k=-9 8) ~r - 4=-8n

9) 47 +4n=—1 10) 3x*+10=—-5x
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Solve each equation with the quadratic formula.
1) 2% +3x=-9 12) 6n°=3

13) 37 - 110="7n 14) 1257 +2x=-7

Solve each equation by taking square roots.
15) x*=—40 16) ¥ =30

17) 47 =-96 18) 28 =-12




